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Homework for Level Three
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+¢ Revise all the previous subjects from My Book 3 to verify clear understanding and do
the exercises below.
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Exercise 1: Use the pronouns below in the sentence in the table below and change what
IS needed:
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Exercise 4 : change the following indefinite nouns into definite:
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Exercise 3: Write the meaning of each word in the table below, its meaning in English.
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Exercise4: Conjugate the following sentences according to the pronouns in the table
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Exercise 4: Match each word from the first row with its Opposite in the second row.
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Exercise 5: Classify the following words according to the type of the letter after the
definition article (4') putting the appropriate diacritics (Harakat) with the word's

meaning.
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Exercise 6: Fill in the following blank with an appropriate word from the brackets:
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Exercise 7: Write each noun in the appropriate row according to the Demonstrative in the
following table:
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